
100 Questions

Testbook Solution

Que. 1 Where is the secretariat office of SAARC Development Fund (SDF) located?

Correct Option - 2

Sri Lanka1.
Bhutan2.
Pakistan3.
India4.
Maldives5.

Testbook Solution

Que. 2 Dr. A.P.J. Abdul Kalam has not written which one of the following books?

Correct Option - 1

 Response in the Living and the Non-living1.
Target 3 Billion2.
The Luminous Sparks3.
Advantage India: From Challenge to Opportunity4.
Inspiring Thoughts5.

Testbook Solution

Que. 3 What is the by Product obtained in soap industry?

Correct Option - 2

Caustic soda1.
Glycerol2.
Naphthalene3.
Isoprene4.
Ethylene glycol5.

Testbook Solution

Que. 4 Who among the following is the winner of Noble Prize in Economics in 2019?

Correct Option - 4

Michel Mayor1.
James Peebles2.
Didier Queloz3.
Michael Kremer4.
Akira Yoshino5.

Que. 5 The velocity of light is maximum in ________.
Diamond1.

Water2.
Glass3.
Vaccuum4.
None of these5.



Testbook Solution Correct Option - 4

Testbook Solution

Que. 6 What was the theme of the Challachitram National Film Festival held in March 2019?

Correct Option - 1

Our Heritage, Our Pride1.
Our Nation, Our Pride2.
Our Country, Our Pride3.
Our Culture, Our Pride4.
Our Tradition, Our Pride5.

Testbook Solution

Que. 7 In which among the following countries did 11th BRICS Summit take place? (Nov 2019)

Correct Option - 3

India1.
South Africa2.
Brazil3.
China4.
Russia5.

Testbook Solution

Que. 8 Who is the author of the book “The Battle of Belonging”

Correct Option - 1

Shashi Tharoor1.
Jai Ratan2.
Kapil Sibal3.
Jairam Ramesh4.
Rajdeep Sardesai5.

Testbook Solution

Que. 9 When is World Pneumonia Day marked every year?

Correct Option - 4

9 November1.
10 November2.
11 November3.
12 November4.
13 November5.

Testbook Solution

Que. 10 Rani Rampal, a sportswoman from Haryana is associated with which of these sports?

Correct Option - 3

Cricket1.
Basketball2.
Hockey3.
Wrestling4.
Swimming5.



Testbook Solution

Que. 11 The GDP forecast by the NCAER in  the second quarter for current fiscal year 2019-2020 is 

Correct Option - 5

4.51.
4.62.
4.73.
4.84.
4.95.

Testbook Solution

Que. 12 When a cheque is not crossed, the cheque is called __________.

Correct Option - 1

An open cheque1.
A cross cheque2.
Stale cheque3.
Order cheque4.
None of the above5.

Testbook Solution

Que. 13 When was the State Bank of India nationalised?

Correct Option - 1

19551.
19692.
19593.
19644.
19755.

Testbook Solution

Que. 14 Which of the following Payments Banks launched 'Bharosa savings account' in September 2019?

Correct Option - 2

Aditya Birla Payments Bank1.
Airtel Payments Bank2.
India Post Payments Bank3.
Fino Payments Bank4.
Jio Payments Bank5.

Testbook Solution

Que. 15 When will the India Post Payments Bank become operational in India?

Correct Option - 2

20161.
20172.
20183.
20194.
20205.

Que. 16 What is the full form of BSBDA?



Testbook Solution Correct Option - 4

Basic Savings Basic Deposit Account1.
Bank Saving and Basic Deposit Account2.
Bank Savings Bank Deposit Account3.
Basic Savings Bank Deposit Account4.
None of the above5.

Testbook Solution

Que. 17 IFSC code is

Correct Option - 3

An alphabetic code1.
A numeric code2.
An alphanumeric code3.
Can be all of the above4.
Symbolic code5.

Testbook Solution

Que. 18 The Rural Infrastructure Development Fund (RIDF) has been created under

Correct Option - 2

Reserve Bank of India1.
NABARD2.
Ministry of Agriculture3.
Ministry of Rural Development4.
SEBI5.

Testbook Solution

Que. 19 Where is the Bank for International Settlements (BIS) headquartered?

Correct Option - 2

Great Britain1.
Switzerland2.
France3.
Germany4.
Liechtenstein5.

Testbook Solution

Que. 20 Kanha National Park is located in ______

Correct Option - 3

Uttarakhand1.
Himachal Pradesh2.
Madhya Pradesh3.
Uttar Pradesh4.
Haryana5.

Que. 21 Where was the 19th edition of 'Hornbill Festival' inaugurated on 1 December 2018?
Manipur1.



Testbook Solution Correct Option - 3

Jharkhand2.
Nagaland3.
Chhattisgarh4.
Madhya Pradesh5.

Testbook Solution

Que. 22 The Department for Promotion of Industry and Internal Trade has awarded a Geographical Indication
tag to ________ varieties of Indian coffee in March 2019.

Correct Option - 4

21.
32.
43.
54.
65.

Testbook Solution

Que. 23 Who has been appointed to the board of directors of Paytm Payments Bank Ltd (PPB) in April 2019?

Correct Option - 4

Rahul Yadav1.
Ravi Ruia2.
Kunal Bahl3.
Sairee Chahal4.
Anil Agarwal5.

Testbook Solution

Que. 24 Who among the following has been appointed as the first Lokpal of the country?

Correct Option - 1

Pinaki Chandra Ghose1.
Karambir Singh2.
Sunil Lanba3.
Ajit Kumar Mohanty4.
Om Prakash Rawat5.

Testbook Solution

Que. 25 Which country is not member of G7?

Correct Option - 1

Russia1.
Germany2.
Italy3.
Britain4.
USA5.

Que. 26 The sentence given below has 4 words in bold which may or may not have been placed correctly.
If the words are not placed correctly, choose the correct combination of the words so that the



Testbook Solution

sentence becomes grammatically correct and contextually meaningful. If the words have already been
placed correctly, choose option 5- No Rearrangement Required as your answer.
People are strength (A) in such Almighty (B) and look up to the circumstances (C) for helpless (C).

Correct Option - 3

DCAB1.
CADB2.
DCBA3.
DABC4.
BACD5.

Testbook Solution

Que. 27 The sentence given below has 4 words in bold which may or may not have been placed correctly.
If the words are not placed correctly, choose the correct combination of the words so that the

sentence becomes grammatically correct and contextually meaningful. If the words have already been
placed correctly, choose option 5- No Rearrangement Required as your answer.
The guard thief (A) trousers (B) the dog (C) and ripped his attacked (D).

Correct Option - 5

BADC1.
DACB2.
ACBD3.
CDAB4.
No Rearrangement Required5.

Testbook Solution

Que. 28 The sentence given below has 4 words in bold which may or may not have been placed correctly.
If the words are not placed correctly, choose the correct combination of the words so that the

sentence becomes grammatically correct and contextually meaningful. If the words have already been
placed correctly, choose option 5- No Rearrangement Required as your answer.
He was ensuing (A) that examination (B) would score well in the hopeful (C) he (D). 

Correct Option - 2

ACBD1.
CDAB2.
BDCA3.
DBAC4.
No Rearrangement Required5.

Que. 29 The sentence given below has 4 words in bold which may or may not have been placed correctly.
If the words are not placed correctly, choose the correct combination of the words so that the

sentence becomes grammatically correct and contextually meaningful. If the words have already been
placed correctly, choose option 5- No Rearrangement Required as your answer.
The young disgusted (A) was so woman (B)  with the man that she did not funeral (C) go to his even (D).

ADBC1.
ACDB2.
BADC3.
BACD4.
No Rearrangement Required5.



Testbook Solution Correct Option - 3

Testbook Solution

Que. 30 Fill in the blanks with appropriate words.
The son of Aglaos, Eratosthenes was born in 276 BC in Cyrene. Now part of modern-day Libya,

Cyrene had been founded by Greeks centuries earlier and became the capital of Pentapolis (North Africa), a
country of five cities: Cyrene, Arsinoe, Berenice, Ptolemias, and Apollonia. Alexander the Great ____(1)____
Cyrene in 332 BC, and following his death in 323 BC, its rule was given to one of his generals, Ptolemy I Soter,
the founder of the Ptolemaic Kingdom. Under Ptolemaic rule, the economy prospered, based largely on the
export of horses and silphium, a plant used for rich seasoning and medicine. Cyrene became a place of
cultivation, where knowledge ____(2)____. Like any young Greek at the time, Eratosthenes would have studied
in the local gymnasium, where he would have learned physical skills and social discourse as well as reading,
writing, arithmetic, poetry, and music.
Eratosthenes went to Athens to ____(3)____ his studies. There he was taught Stoicism by its founder, Zeno of
Citium, in philosophical lectures on living a virtuous life. He then studied under Aristo of Chios, who led a
more cynical school of philosophy. He also studied under the head of the Platonic Academy, which
was Arcesilaus of Pitane. His ____(4)_____ in Plato led him to write his very first work at a scholarly
level, Platonikos, inquiring into the mathematical foundation of Plato's philosophies. Eratosthenes was a man of
many perspectives and investigated the art of poetry under Callimachus. He wrote poems: one
in hexameters called Hermes, illustrating the god's life history; and another in elegiacs, called Erigone,
describing the suicide of the Athenian maiden Erigone (daughter of Icarius). He wrote Chronographies, a
____(5)____ that scientifically depicted dates of importance, beginning with the Trojan War. This work was
highly ___(6)___ for its accuracy. George Syncellus was later able to preserve from Chronographies a list of 38
kings of the Egyptian Thebes. Eratosthenes also wrote Olympic Victors, a chronology of the winners of
the Olympic Games. It is not known when he wrote his works, but they highlighted his abilities.

Which of the following words should fill (1)? 

Correct Option - 3

Helped1.
Doubted2.
Conquered3.
Slept4.
Forgot5.

Testbook Solution

Que. 31 Which of the following words should fill (2)? 

Correct Option - 2

Died1.
Blossomed2.
Deepened3.
Hankered4.
Raved5.

Que. 32 Which of the following words should fill (3)? 
Loathe1.

Retain2.
Politicize3.
Absolve4.



Testbook Solution Correct Option - 5
Continue5.

Testbook Solution

Que. 33 Which of the following words should fill (4)? 

Correct Option - 1

Interest1.
Antipathy2.
Apathy3.
Sympathy4.
Fun5.

Testbook Solution

Que. 34 Which of the following words should fill (5)? 

Correct Option - 5

Work1.
Poem2.
Text3.
Piece4.
1, 3 and 45.

Testbook Solution

Que. 35 Which of the following words should fill (6)? 

Correct Option - 4

Mocked1.
Threatened2.
Derided3.
Esteemed4.
Calculated5.

Que. 36 Read the following passage and answer the questions given below. Some words may be
highlighted for you. Pay attention.

A bank is a financial institution that accepts deposits from the public and creates a demand deposit while
simultaneously making loans. Lending activities can be directly performed by the bank or indirectly
through capital markets.
Because banks play an important role in financial stability and the economy of a country, most jurisdictions
exercise a high degree of regulation over banks. Most countries have institutionalized a system known
as fractional reserve banking, under which banks hold liquid assets equal to only a portion of their current
liabilities. In addition to other regulations intended to ensure liquidity, banks are generally subject to minimum
capital requirements based on an international set of capital standards, the Basel Accords.
Banking in its modern sense evolved in the fourteenth century in the prosperous cities of Renaissance Italy but
in many ways functioned as a continuation of ideas and concepts of credit and lending that had their roots in
the ancient world. In the history of banking, a number of banking dynasties — notably, the Medicis, the Fuggers,
the Welsers, the Berenbergs, and the Rothschilds — have played a central role over many centuries. The oldest
existing retail bank is Banca Monte dei Paschi di Siena (founded in 1472), while the oldest existing merchant
bank is Berenberg Bank (founded in 1590).



Testbook Solution

What is a bank?

Correct Option - 5

A financial institution that accepts donations from the public and creates a supply deposit while
simultaneously making profits

1.

A technical organization that helps in scientific development2.
A house of worship located deep within the woods3.
A storage of emotions and feelings4.
None of the above5.

Testbook Solution

Que. 37 To which period can the modern Banking system trace its roots?

Correct Option - 5

15th Century Renaissance Italy1.
14th Century Renaissance Italy2.
Ancient world3.
Only 14.
Both 2 and 35.

Testbook Solution

Que. 38 Which prominent banking dynasty has NOT been mentioned  in the passage?

Correct Option - 4

Berenberg1.
Medici2.
Rugger3.
Barclay4.
Both 2 and 45.

Testbook Solution

Que. 39 What is the international set of capital  standards known as?

Correct Option - 3

the Bagel Concords1.
the Peace Accord2.
the Basel Accords3.
the Rothschild Accords4.
None of the above5.

Testbook Solution

Que. 40 What can be inferred from the last line of the passage?

Correct Option - 5

The oldest existing merchant bank started its operations before the oldest existing retail bank1.
Both the banks are now dysfunctional2.
They are the two sights worth seeing in Italy3.
A merchant bank is much more difficult to break into than a retail bank4.
None of the above5.



Testbook Solution

Que. 41 What is the synonym of 'performed'?

Correct Option - 2

Enumerated1.
Accomplished2.
Aestheticized3.
Looked4.
Taken5.

Testbook Solution

Que. 42 What is the antonym of the word 'prosperous'?

Correct Option - 3

Wealthy1.
Dark2.
Impoverished3.
Scholarly4.
Beautiful5.

Testbook Solution

Que. 43 What is the synonym of the word 'regulation'?

Correct Option - 1

Management1.
Reverberation2.
Lawlessness3.
Anarchy4.
Autocracy5.

Testbook Solution

Que. 44 Determine the part of the sentence containing an error. The error, if any, will be in only one part
of the sentence. If there is no error anywhere in the sentence, mark Option 5- No Error as your

choice. 
After planting (A) the time bomb, the terrorist (B) quickly left the building (C) bag and baggage. (D) No Error
(E)

Correct Option - 5

A1.
B2.
C3.
D4.
No Error5.

Que. 45 Determine the part of the sentence containing an error. The error, if any, will be in only one part
of the sentence. If there is no error anywhere in the sentence, mark Option 5- No Error as your

choice. 
It was really awkwardly (A) for Matt to realize (B)  that his old neighbour (C) could not recognize him anymore.
(D) No Error (E)

A1.
B2.



Testbook Solution Correct Option - 1

C3.
D4.
No Error5.

Testbook Solution

Que. 46 Directions: In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and click the button corresponding to it. If the sentence is free

from error, click the ''No error'' option.
The present regime’s(A)/ eagerness to undermining the(B)/ independent functioning of(C)/ tribunals is quite
apparent.(D)/ No error/(E)

Correct Option - 2

A1.
B2.
C3.
D4.
No error5.

Testbook Solution

Que. 47 Directions: In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and click the button corresponding to it. If the sentence is free

from error, click the ''No error'' option.
The RBI’s officials have in(A)/ recent months maintained an unwavering(B)/ focus on emphasize the need to(C)/
retain the flexible inflation targeting framework.(D)/ No error/(E)

Correct Option - 3

A1.
B2.
C3.
D4.
No error5.

Testbook Solution

Que. 48 The sentence below has been divided into three parts. Select the part of the sentence that has an
error. If the sentence has no error, select the option 'No Error'.

Felipa left Carmen at the foot of the stairs, striding of without another word.

Correct Option - 4

of the stairs, striding1.
Felipa left Carmen at the foot2.
No error3.
of without another word.4.

Que. 49 Given below is a word, followed by three sentences that consist of that word. Identify the
sentences(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above’ if

the word is not suitable in any of the sentences.
COPY
A. This is a cheap imitation; a blatant copy.
B. They teach you how to write a copy in digital marketing.



Testbook Solution

C. He suddenly died in copy. 

Correct Option - 4

Only A1.
Only B2.
Only C3.
Both A and B4.
Both B and C5.

Testbook Solution

Que. 50 Given below is a word, followed by three sentences that consist of that word. Identify the
sentences(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above if

the word is not suitable in any of the sentences.
DISPOSITION
A. His carefree disposition raises doubts about his ability to put his inheritance to good use.
B. The disposition of Nepos and then that of Romulus Augustulus in 476 saw the end of the line of western
Roman emperors.
C. You can discern the quality of a novel from the disposition of its plots and characterization.

Correct Option - 4

Both A and B1.
Both B and C2.
Only B3.
Both A and C4.
None of the above5.

Que. 51 Directions: Study the following data and answer the following questions.
Following table shows the number of officers and workers of a company in five departments.

 

Find the difference between total workers and officers in five departments. 
2801.
3202.



Testbook Solution Correct Option - 3

2103.
1804.
1505.

Testbook Solution

Que. 52 Find the average number of workers in five departments. 

Correct Option - 1

1421.
1302.
1803.
1454.
1405.

Testbook Solution

Que. 53 Find the ratio between officers and workers in departments III.

Correct Option - 2

3 : 41.
4 : 52.
2 : 73.
1 : 54.
2 : 95.

Testbook Solution

Que. 54 The number of officers in the department I is approximately what percent more than the number of
officers in department IV?

Correct Option - 2

65%1.
75%2.
70%3.
80%4.
72%5.

Testbook Solution

Que. 55 The number of workers in department V is approximately what percent of total workers in five
departments?

Correct Option - 2

20%1.
28%2.
26%3.
30%4.
35%5.

Que. 56 The difference between simple interest and compound interest on a certain sum of money for 2 years at
8% per annum is Rs 120. Find the sum.

Rs. 19,7501.



Testbook Solution Correct Option - 4

Rs. 17,5702.
Rs. 21,5703.
Rs. 18,7504.
Rs. 20,0505.

Testbook Solution

Que. 57 If 36 workers can do a work in 24 days, how much days will be needed to the complete the same work
by 48 workers?

Correct Option - 4

50 days1.
42 days2.
30 days3.
18 days4.
64 days5.

Testbook Solution

Que. 58 Joel covers the distance from A to B at a speed of 18 km/h, he returns from B to A by car at a speed of
36 km/h. What was his average speed during the journey?

Correct Option - 3

18 km/h1.
30 km/h2.
24 km/h3.
36 km/h4.
48 km/h5.

Testbook Solution

Que. 59 Ratul invested 20% more than Rakesh and Rakesh invested 50% more than Rudra. If the total amount
of their investment is Rs. 3,225, how much amount did Ratul invest? 

Correct Option - 4

Rs. 1,4501.
Rs. 1,5002.
Rs. 1,0503.
Rs. 1,3504.
Rs. 1,4005.

Testbook Solution

Que. 60 What will come in the place of question mark (?) in the given expression?

24 × 32 ÷ 6 + 25% of 64 = ?2

Correct Option - 4

111.
132.
143.
124.
215.



Testbook Solution

Que. 61 What will come in the place of question mark (?) in the given expression?
450 × 30 + 1500 × 20 = ?% × 43500

Correct Option - 1

1001.
502.
2003.
1504.
2505.

Testbook Solution

Que. 62 What will come in the place of the question mark ‘?’ in the following question?
1792 ÷ [13 × 5 – 5 ÷ (4 + 1)] = 256 – ?

Correct Option - 4

1281.
2382.
2443.
2284.
None of these5.

Testbook Solution

Que. 63 What will come in the place of question mark (?) in the given expression?
54 + 32 × 5 ÷ 16 – 20% of 25 = ?

Correct Option - 3

491.
392.
593.
694.
705.

Testbook Solution

Que. 64 In each of the following number series, the wrong number is given, find out that number.
2, 9, 30, 93, 283, 849

Correct Option - 4

91.
302.
933.
2834.
8495.

Que. 65 In the following number series, a wrong number is given. Find out the wrong number.
5, 2.5, 3, 5, 20, 160

201.
52.
33.
2.54.



Testbook Solution Correct Option - 3
None of these5.

Testbook Solution

Que. 66 In the following number series, only one number is wrong. Find out the wrong number.
79, 47, 31, 23, 21, 17

Correct Option - 1

211.
232.
173.
314.
475.

Testbook Solution

Que. 67 Find out the wrong term in the following series.
75, 92, 58, 109, 41, 127

Correct Option - 1

1271.
412.
1093.
584.
925.

Testbook Solution

Que. 68 In each of the following number series, the wrong number is given, find out that number.
8, 17, 35, 71, 145, 287, 575

Correct Option - 1

1451.
352.
5753.
2874.
715.

Testbook Solution

Que. 69 Sumit spend 15% of his monthly salary on rent, 20% of remaining on tax and 8% of total salary on
transport and 25% of remaining on other expenditure remaining amount he saved which is 90000 then

find his annual income of sumit.

Correct Option - 4

21000001.
22000002.
23000003.
24000004.
None of these5.

Que. 70 A candidate scored 30% marks and fails by 15 marks. Another candidate scored 38% marks and
passed by 9 marks. Find the total marks in the examination?



Testbook Solution Correct Option - 2

280 marks1.
300 marks2.
250 marks3.
320 marks4.
420 marks5.

Testbook Solution

Que. 71 A sum becomes 6 times of itself on simple interest in 4 years. What is the rate of interest?

Correct Option - 4

115 %1.
116 %2.
120 %3.
125 %4.
135 %5.

Testbook Solution

Que. 72 An article on cost price Rs. 6000 is marked at Rs. 7800. After allowing a discount of x percent a profit
of 4% is made. The value of x is

Correct Option - 2

10%1.
20%2.
24%3.
30%4.
48%5.

Testbook Solution

Que. 73 A dishonest shopkeeper sells his items using 20% less than the true weight and earns 30% profit. Find
his total profit percent.

Correct Option - 3

33.33%1.
14.8%2.
62.5%3.
66.66%4.
9.77%5.

Testbook Solution

Que. 74 Two jars contain equal mixture of milk and water in the ratio 4 ∶ 5, 2 ∶ 7 respectively. If all the
solutions are mixed together, what is the new ratio of milk and water in the third mixture?

Correct Option - 5

4 ∶ 31.
8 ∶ 52.
2 ∶ 33.
6 ∶ 74.
1 ∶ 25.



Testbook Solution

Que. 75 A, B and C into a partnership. A invested Rs. 30,000 for 2 months, B invested Rs. 20,000 for 8 months
and C invested Rs. 50,000 for 12 months. Find the ratio of their profit.

Correct Option - 3

2 : 3 : 51.
1 : 2 : 32.
3 : 8 : 303.
10 : 5 : 204.
13 : 14 : 155.

Testbook Solution

Que. 76 In the following question, select the missing number from the given series.
69, 66, 61, 54, ?

Correct Option - 1

451.
472.
493.
444.
425.

Testbook Solution

Que. 77 In the following question, choose the correct alternative from the given ones that will complete the
series:

12, 6, 6, 9, 18, 45,?

Correct Option - 3

125 1.
1302.
1353.
1294.
1405.

Testbook Solution

Que. 78 Find the missing terms in the following series:
33, 30, 27, 24, ?, 18

Correct Option - 1

211.
172.
193.
204.
none of these5.

Que. 79 Directions: Study the following information carefully to answer the given questions:
P < O 6 F M 3 U & 7 D H $ 4 G 7 # 9 S @ 2 B ! N L Q % 1 Y 1 5 K + 8 C

How many symbols are immediately followed by numbers and preceded by consonants?
Two1.



Testbook Solution Correct Option - 3

Three2.
Four3.
Five4.
Six5.

Testbook Solution

Que. 80 With respect to the sequence, four of the five are alike in some way and thus form a group. Which of
the following doesn’t belong to the group?

Correct Option - 4

U 7 F1.
N Q 22.
6 M P 3.
% 1 L4.
G # H5.

Testbook Solution

Que. 81 How many numbers are there to the right of second vowel from the left end?

Correct Option - 3

Seven1.
Eight2.
Nine3.
Ten4.
Eleven5.

Testbook Solution

Que. 82 With respect to the sequence, what should come in place of question mark?
P O M  7 G  2 ?

Correct Option - 1

11.
%2.
K3.
+4.
Y5.

Testbook Solution

Que. 83 In each of the following questions find out the alternative which will replace the question mark.
MNBV : NPEZ :: ADGJ : ?

Correct Option - 2

BHIJ1.
BFJN2.
BGKM3.
BGHF4.
BGHE5.

Que. 84



Testbook Solution

Select the option that is related to the third number in the same way as the second number is related to
the first number.
12 : 156 : : 14 : ?

Correct Option - 3

2141.
2042.
2103.
2094.
None of these5.

Testbook Solution

Que. 85 Given below is a question followed by two statements. Analyse and decide whether the question can
be answered from the given statements.

Question: Who is Ram’s father?
Statement I: Ram is brother of Sohan.
Statement II: Manoj is father of Sohan’s sister Anu.

Correct Option - 2

Statement I and II together are not sufficient1.
Statement I and II together are sufficient2.
Statement II alone is sufficient3.
Statement I alone is sufficient4.
None of the above5.

Testbook Solution

Que. 86 Directions: The given question consists of two statements numbered I and II that are below in it. You
have to decide whether the data provided in the statements are sufficient to answer the question.

In which direction man Q with respect to man T?
Statements:
I. Q is east of P and south of V.
II. U is south of Q and T is east of U.

Correct Option - 2

Only statement I is sufficient1.
Only statement II is sufficient2.
Neither I nor II is sufficient3.
Both I and II are sufficient together 4.
None of the above5.

Que. 87 Direction: The following question consists of two statements numbered I and II. Decide if data given
in the statements are sufficient to answer the questions below.

A, B, C, D, and E are the five boxes which contain five colours namely, Green, Blue, White, Red, and Black, but
not necessarily in the same order. Which box contains blue colour?
I. Boxes B and D do not contain Blue or Green colour. Box C contains either Black or Blue colour.
II. Either Box A or E contains Green colour. 

If data in statement I alone is sufficient but data is statement II is not sufficient to answer the question.1.
If data in statement II alone is sufficient but data is statement I is not sufficient to answer the question.2.



Testbook Solution Correct Option - 5

If data in both the statements are required to answer the question.3.
If data in statement I alone and data in statement II alone are sufficient to answer the question.4.
If data in both the statements are not sufficient to answer the question.5.

Testbook Solution

Que. 88 Direction: In the following question, a given questions is followed by information in three statements.
You have to find out the data in which statement (s) is sufficient to answer the question and mark your

answer accordingly.
What is Deepa's rank in the class?
I. There are 26 students in the class.
II. There are 9 students who have scored less than Deepa.

Correct Option - 2

The data either in statement I alone or in statement II alone are sufficient to answer the question.1.
The data in both statements I and II together are sufficient to answer the question.2.
The data in statement I alone are sufficient to answer the question, while the data in statement II alone
are not sufficient to answer the question.

3.

The data in statement II alone are sufficient to answer the question, while the data in statement I alone
are not sufficient to answer the question.

4.

The data even in both statements I and II together are not sufficient to answer the question.5.

Testbook Solution

Que. 89 Direction: Read the following information carefully and answer the questions that follow:
There are seven persons namely A, B, C, D, E, F, and G. They all are sitting in a row facing north. G

sits second from one of the ends. E has equal number of persons to his left and right side. F sits on the extreme
left end of the row. There are three persons between F and B. A sits immediate right of C. A does not sit at the
corner.

Who is sitting exactly between F and B?

Correct Option - 5

C1.
B2.
D3.
E4.
A5.

Testbook Solution

Que. 90 How many persons are sitting to the left of G?

Correct Option - 2

Four1.
Five2.
One3.
Two4.
Three5.

Que. 91 Who is sitting third from the right end?



Testbook Solution Correct Option - 2

D1.
B2.
E3.
A4.
C5.

Testbook Solution

Que. 92 How many persons are sitting between A and G?

Correct Option - 2

Five1.
Two2.
Four3.
Three4.
One5.

Testbook Solution

Que. 93 Who is sitting second to the left of E?

Correct Option - 2

A1.
C2.
G3.
F4.
B5.

Testbook Solution

Que. 94 In each of the following questions below are given some statements followed by two conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known

facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
Some medicines are tablets.
Some medicines are not effective.
Conclusions:
I. Some tablets are effective.
II. No effective is a tablet.

Correct Option - 3

If only conclusion I follows.1.
If only conclusion II follows.2.
If either conclusion I or II follows.3.
If neither conclusion I nor II follows.4.
If both conclusions I and II follow.5.

Que. 95 Direction: In the following questions three statements are given below followed by two conclusions
numbered I and II. You have to take the given statements to be true even if they follows the seem to be



Testbook Solution

at variance from commonly known facts. Read both the conclusions and decide which of the given conclusions
logically follows the given statements.
Statements:
No tree is large.
Some large are boys.
All boys are crazy.
Conclusion:
I. No crazy is large.
II. All crazy being large is a possibility.

Correct Option - 2

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follows5.

Testbook Solution

Que. 96 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some juice are tasty.
All tasty are good.
Some tasty are litchi.
Conclusions:
I. Some juice are litchi
II. Some juice are good.

Correct Option - 4

None follows1.
Either I or II follows2.
Only I follows3.
Only II follows4.
Both I and II follow5.

Que. 97 Direction: In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All paper are eraser.
No eraser is a pencil.
All pen are pencil .
Conclusions:
I. Some paper are not pen.



Testbook Solution

II. Some eraser are not pen.

Correct Option - 5

None follows1.
Either I or II follows2.
Only I follows3.
Only II follows4.
Both I and II follow5.

Testbook Solution

Que. 98 Direction: In the question below are given three statements followed by conclusions numbered I and
II. You have to take the given statements to be true even if they seem to be at variance with commonly

known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.
Statements:
All human are man.
No man is a god.
Some female are god.
Conclusions:
I. Some female are not human.
II. All man are human.

Correct Option - 3

None follows1.
Either I or II follows2.
Only I follows3.
Only II follows4.
Both I and II follow5.

Testbook Solution

Que. 99 Q3. Directions: The question consists of two statements, an assertion (A) and a reason (R). Read both
the statements and decide which of the following answer choice correctly depicts the relationship

between these two statements.
Assertion (A): Protein is important for the growth and development of the body
Reason (R): Excessive intake of protein is the cause of obesity.

Correct Option - 3

Both A and R are true and R is the correct explanation of A.1.
Both A and R are true but R is not the correct explanation of A.2.
A is true but R is false.3.
A is false but R is true.4.
Both A and R are false.5.

Que. 100 Statements:  The car broke down while it was running on the national highway at the speed of 100
km/hr.

Assumptions:
i) The car was not maintained by the owner properly.
ii) The road was broken.



Testbook Solution Correct Option - 3

Only i) is implicit1.
Only ii) is implicit2.
Either i) or ii) is implicit3.
None4.
Both are implicit5.


